
Answer on Question 73439, Physics, Mechanics, Relativity 

Question: 

A 150 𝑔 baseball pitched at a speed of 40 𝑚 𝑠⁄  is hit straight back to the pitcher at 

a speed of 60 𝑚 𝑠⁄ . What is the magnitude of the average force on the ball if the bat 

is in contact with the ball for 5.0 𝑚𝑠? 

Solution: 

Let’s choose the direction of motion of the baseball to the pitcher as positive. Then, 

we can find the magnitude of the average force on the ball from the definition of the 

impulse: 

𝐽 = ∆𝑝 = 𝑚∆𝑣 = 𝐹∆𝑡, 

𝐹∆𝑡 = 𝑚∆𝑣 = 𝑚𝑣𝑓 − 𝑚𝑣𝑖 = 𝑚(𝑣𝑓 − 𝑣𝑖), 

here, 𝐽 is the impulse imparted on the baseball, ∆𝑝 is the change of momentum, 𝑚 =

0.15 𝑘𝑔 is the mass of the ball, ∆𝑣 is the change of speed, ∆𝑡 = 5.0 𝑚𝑠 is the time 

during which the bat is in contact with the ball, 𝑣𝑓 = 60 𝑚 𝑠⁄  is the final speed of 

the baseball, 𝑣𝑖 = −40 𝑚 𝑠⁄  is the initial speed of the baseball and 𝐹 is average 

force on the ball. 

Then, we get: 

𝐹 =
𝑚(𝑣𝑓 − 𝑣𝑖)

∆𝑡
=

0.15 𝑘𝑔 ∙ (60 
𝑚
𝑠

− (−40 
𝑚
𝑠 ))

0.005 𝑠
= 3000 𝑁. 

Answer: 

𝐹 = 3000 𝑁. 
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